B.Com, (PART-IIT) EXAMINATION, 2017
BUSINESS MANAGEMENT

Second Paper-[{I) Fundamentals of Insurance]

Time atlowed : Three hours Maximum marks: 100
Part-A (Compulsory)
T3 ( 3rfary )
1. “Insurance is co-operative device.” Comiment. 2
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What is meant by “Jettison’? ‘e’ | w1 Awead %}’/ 2
What is meant by ‘Burglary Insurance’? 2
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What do you mean by ‘Insurance Broker’? 2
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What is meant by underwriting? 3T B =41 oTer3 ¥ 2 2
What is meant by promotion mix? Hog el § = enea 7 2
What is meant by ‘Reinsurance Broker'? JaiH1 Selel & 11 3R ¥7 2
Define Premium. Wfeas &t aftura s - 2
What do you mean by ‘Public Relations’? ST Y A A ¥ 2
What is meant by assignment of policy? 2
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Part-B (Compulsary}
- anr-a ( Rfar )
State the main distinctions between insurance and gambling. 4 »
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Distinguish between over-insurance and under-insurance. 4
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Wnte., a notc on ‘payment «.f claim in case of suicide’? 4
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Under what circumstance insurance agent’s licence can be revoked? 4
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Distinguish between constant method of loading and precentage method

of loading. 4
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Part-C{ WIM-9)

Unit-1( 5&1§-1)
Define insurance and explain its characteristics. 6+14
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Discuss the important stages ﬁ'cm proposal to policy at the oﬁ‘ ice of the
life insurance corporation.
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Unit-T1 ( F18-11 )
State the provisions and procedure regarding renewal and cancellation of
insurance agent’s licence. 10+10
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Or
What IS meant by remuneration of insurance agents‘? What are the factors
influence the determination of remuneration of insurance agents. 6+14
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Unit-I1 ( FTE-111 )

What do you mean by organisation structure? Discuss the factors affecting
the organisation structure. 6+14
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Write an essay on New Jeevan Suraksha-[ policy. X
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